HHE—% (TROFAERREAV-HERD) 53

3= BE~D b33 e b33

=R 1) IR 2) EYRE 3) | HHIOHHEE 4)

REM 19. 8% 11.2% 93. 0% 15. 6%
BEHEAR—L

(H— £ 2 ff = =02 0 (HEZ L0 12. 9% 1. 6% 83. 5% 57. 0%

kT EE 46. 3% 4. 5% 76. 6% 33. 7%

BT 65. 2% 4. 6% 83. 7% 51. 9%

FENEXE 26. 7% 3. 5% 82. 4% 21. 0%

NEFIXE 60. 0% 1. 8% 92. 8% 53. 3%

E: 1) BRERBRERERNSWURNELLGDIIREL-LYDOHHEC, BEDENERVEEDIKREZEEL TR LZLOD,
2) BEIEDEILEADBITREDLELFLVEELS,
3) BEIFDEREDZFHENEEL:,
4) PIDHTHEEOHMERRIKEERRUVEDRERFTERO BFRRERERNI%NUNLLGDRIRFTLIHHE,



